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program test

implicit none

include "mpif.h"

integer, parameter :: dp=kind(1.0d0), lvec=2, nthrd=8
real (dp), dimension(8,2) :: arrayl

integer :: omp_get num_threads, omp_get thread_num
integer :: i,j,l,nprocs,ierr,myrank

integer :: ithrd

real(dp) :: s

real (dp), dimension(8,lvec,nthrd) :: stmp

call mpi_init(ierr)
call mpi_comm_size(mpi_comm_world,nprocs,ierr)
call mpi_comm_rank(mpi_comm_world,myrank, ierr)

arrayl = 1.11111111111111 dp

stmp = 0.0dO

'$omp parallel private(ithrd)
if(nthrd /= omp_get_num_threads()) stop
ithrd = omp_get_thread_num()
ithrd = ithrd+1

1$omp do private(j,l) &

1$omp reduction(+:stmp)
do 1=1,10000

Tocl novrec
do j=1,125000
1 = mod(J,lvec)+1
stmp(1, 1, ithrd)
stmp(2, 1, ithrd)
stmp(3, 1, ithrd)
stmp(4,1,ithrd)
stmp(5, 1, ithrd)
stmp(6, 1, ithrd)
stmp(7, 1, ithrd)
stmp(8, 1, ithrd)

stmp(1,1,ithrd) +arrayl(l,1l)*arrayl(l,2)
stmp(2,1,ithrd) +arrayl(2,1l)*arrayl(2,2)
stmp(3,1,ithrd) +arrayl(3,1)*arrayl(3,2)
stmp(4,1,ithrd) +arrayl(4,l)*arrayl(4,2)
stmp(5,1,ithrd) +arrayl(5,1)*arrayl(5,2)
stmp(6,1,ithrd) +arrayl(6,1)*arrayl(6,2)
stmp(7,1,ithrd) +arrayl(7,1)*arrayl(7,2)
stmp(8,1,ithrd) +arrayl(8,1)*arrayl(8,2)



enddo
enddo
$omp end do
1$omp end parallel

s=0.0D0

do ithrd=1,nthrd

do I=1,1lvec

s =&
s+stmp(l, I, ithrd)+stmp(2, 1, ithrd)+stmp(3, 1, ithrd)+stmp(4,1,ithrd)&
+stmp(5, 1, ithrd)+stmp(6, 1, ithrd)+stmp(7,1, ithrd)+stmp(8, 1, ithrd)

enddo

enddo

call mpi_finalize(ierr)

end program test

program test

implicit none

include "mpif.h"

integer, parameter :: dp=kind(1.0d0),
real (dp), dimension(8,2) arrayl

Ivec=2

integer :: i,j,l,nprocs,ierr,myrank
real(dp) :: s
real (dp), dimension(8,lvec) :: stmp

call mpi_init(ierr)
call mpi_comm_size(mpi_comm_world,nprocs, ierr)
call mpi_comm_rank(mpi_comm_world,myrank, ierr)

arrayl
stmp

1.111111212211111_dp
0.0do

1$omp parallel do private(j,l) &
'$omp reduction(+:stmp)
do i1=1,10000
Tocl novrec
do j=1,125000
1 = mod(J,lvec)+1

stmp(1,1) = stmp(1,1) +arrayl(l,l)*arrayl(l,2)
stmp(2,1) = stmp(2,1) +arrayl(2,l)*arrayl(2,2)
stmp(3,1) = stmp(3,1) +arrayl(3,1l)*arrayl(3,2)
stmp(4,1) = stmp(4,1) +arrayl(4,l)*arrayl(4,2)
stmp(5,1) = stmp(5,1) +arrayl(5,1l)*arrayl(5,2)
stmp(6,1) = stmp(6,1) +arrayl(6,l)*arrayl(6,2)
stmp(7,1) = stmp(7,1) +arrayl(7,1l)*arrayl(7,2)
stmp(8,1) = stmp(8,1) +arrayl(8,1l)*arrayl(8,2)
enddo

enddo



'$omp end parallel do

s=0.0D0

do I=1,lvec

s =&
s+stmp(1, D+stmp(2, D+stmp (3, D+stmp(4, D) +stmp(5, D) +stmp (6, D) +stmp (7, )&
+stmp(8,1)

enddo

call mpi_finalize(ierr)

end program test
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